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TEXAS A&M UNIVERSITY Math 151 - Fall 2022
-‘T‘ Math Learning Center “HAKDS ON, GRADES UF

WEEK-IN-REVIEW 2 (VECTORS: PART 2 AND 3) /J(A

o T = \Rl\gl@

=Gt ﬁlb:’

Problem 1. Find the dot prodnet for the following pair of vectors. —\te the vectors parallel, gle pz ™
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Problem 2. What value(s) of = will make the vector rthogonal7 ? g ‘Q“r

m, ( E) = X o | X, x> L\ x) =0  for 17 yechss
% X+ x> = Y= o-—ano.tx v€:‘°"
m Cb) -?—‘ X x( | +x) =o )S

\
Toc A 4 b 1o ke \wr\czd—w\*v\(mOCm) \
QY CXD

ol "’““*
2F Problem 3. Find t@rthogonal to the vector

0* \ \“l _
Of\-hoa»vul (SW\F\CAM&\,\\' . <—(, -
— kW” e =de
unte vedor (&Y = &M B \*\a\ {®

'\; \C
Find @ parallel to the Vecto
Q =
A

= . Al
| %)
Ll

= >
~ b
‘k’/ Seelan: aoml:)—vbo‘ f\_cT //)\t\ 4;

- e — e
o Veckor 1 pregg® - (ompi?)- C\'\;,\) 9”‘“”[’“ S

1]

3

Problem 4. Find the scalar projection ofmnto <2,3>. )



Problem 4. Fiud the scalar projection ofmt[},..-p
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Problem 5. A wagon iz pulled a distance of 100 meters along a horizontal path by a constant

foree of B0 N If the handle of the wagon is af an angle of 30° above the horizontal, how much

work is done?
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Problem 6. Given that the points £2(0.1),G(2.1) and (5, 1) make the 3 vertices of a triangle,
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2 Problem 8. Find the vector equation of the line that makes s angle of 607)with the positive

¢ axis and passes through the point (2, 5).
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Problem 11. The nosition of an abicet moving in the xu—nlanc. after ¢ sceonds. is given by
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Problem 11. The position of an object moving in the zy—plane, after ¢ seconds, is given by
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Problem 12. Are

the following pairs of lines parallel, perpendicular or neither? If the lines are
ok p}‘r‘i“fl find the point of intersection betwoeen them.
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